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I 432[ BT mE  |BmpRasmee] we B | a%|o%meal HR [ Ba [TP.| oP [B%H TI | AV. |[EAV <N15U>

1 A% B L=y 7 2 120 | 18 8 0 2 0 18 | 4 | 200 | 117 |171%| 199 | 1.005 0.588 18 A B

2 |08 =# <= 8 2 |17 | 16 8 2 0 0 7 10 | 196 | 142 | 138%| 228 | 0.860 | 0.623 8/l #K IMEL
3 |Af E BAZ 5 2 | 12 | 14 7 3 0 1 6 17 | 187 | 143 | 131%| 248 | 0.754 | 0577 WH —8
4 |5t S =T 6 2 | 10 | 13 6 3 1 0 6 12 | 182 | 154 | 118%| 213 | 0854 | 0.723

5 &R #hal Fy/v 9 1 10 9 4 0 1 0 7 8 | 100 | 58 |172%] 105 | 0.952 0.552

6 s JE—ER INER 7 1 10 | 9 4 0 1 0 5 19 [ 100 | 66 [152%] 114 | 0877 | 0579 <ARRAFMS—LARXF5>
7 |miE REh FENAVR | 6 1 10 | 8 4 0 0 0 5 16 | 95 | 64 |148%]| 96 | 0990 | 0667 4%a21— X B

8 |+ H #0187 JL—y 5 1 10 | 8 4 1 0 0 5 17 | 99 | 66 |150%| 115 | 0.861 0574 8%a1— FER A
9 |@m —& INR 5 1 10 | 8 4 1 0 1 8 19 | 99 | 73 [136%| 127 | 0.780 | 0575 10%1—HE H#
10 |iEEE R —a—Xik| 4 2 9 7 3 6 1 3 5 18 | 173 | 164 [105%| 293 | 0.590 0560 14%1— [ IERI

11 k4 AA NI 5 2 8 8 4 6 0 2 7 17 | 165 | 160 | 103% | 279 | 0.591 0573 15%a— 8K ¥MEL
12 |5hh & <4 8 1 7 8 4 1 0 0 5 16 | 99 | 61 |162%| 106 | 0.934 | 0575

13 | H— =T 7 1 7 8 4 1 0 0 6 17 | 93 | 59 |158%| 107 | 0.869 0551 <—HZ7ZARAL—Y>
14 |&IL &= ARAI 7 1 7 8 4 1 0 0 6 14 | 89 | 81 [110%]| 117 | 0.761 0692 1 X2 B

15 |EARIMEL ARENA 4 1 7 7 3 1 1 0 8 15 | 90 | 72 |125%| 104 | 0.865 0.692 1 N Bk
16 |28 A2 A7 S I 1 7 6 3 2 0 0 4 18 | 77 | 70 [110%] 94 | 0819 | 0.745 1 FER %A
17 |[Kig —X E 3 2 7 3 1 8 1 3 4 25 | 143 | 174 | 82% | 296 | 0.483 0.588 1 FE
18 [FIER ;&= <k 4 2 6 8 3 5 2 0 7 24 | 166 | 169 | 98% | 248 | 0.669 | 0.681 1 sl &

19 |hFt Rith ARAI 7 1 5 7 3 1 1 0 5 16 | 97 | 76 |[128%| 121 | 0.802 0.628

20 | EFE FENAUX | 3 1 5 6 3 2 0 0 5 17 | 90 | 87 |103%| 126 | 0.714 | 0.690

21 |[fhHF Fn L—y 4 1 5 6 3 2 0 0 5 28 | 89 | 77 [116%] 142 | 0627 | 0542 EREEE

22 |Tig & BAZ 3 2 4 4 2 8 0 1 5 22 | 131 ] 183 | 72% | 250 | 0524 | 0732 <HR>

23 B =B A2 2 4 0 0 10 0 3 5 - | 134 | 171 | 78% | 282 | 0.475 0.606 188 A B

24 [INEE #f— Za—xik| 3 2 4 0 0 10| 0 0 5 - | 120 | 200 | 60% | 278 | 0.432 | 0.719 MR £k BEE
25 |#i8 B— TFENAVR | 7 1 3 4 2 3 0 1 7 25 | 85 | 73 |116%| 144 | 0590 | 0.507 At B

26 [&1U IEFE REVE 3 1 3 4 2 3 0 0 7 20 | 69 | 82 | 84% | 119 | 0580 | 0.689 10/ #1U, K. #5K
27 @ ERI ARAI 4 1 3 4 2 3 0 1 6 14 | 80 | 85 | 94% | 266 | 0.301 0.320

28 [fERAKR & |EraEsE 3 1 3 2 1 4 0 1 4 32 | 57 | 86 | 66% | 101 | 0564 | 0851 <BG>

29 |8 EFE BIGBOX 3 1 3 2 1 4 0 1 7 32 | 81 | 95 | 85% | 153 | 0529 | 0621 4%a— Fix B

30 |ENI #iz (NI 4 1 2 2 1 4 0 0 7 | 28 | 85 | 96 [ 89% | 112 | 0.759 | 0.857 %1~ FHER thA
31 Pk && ARENA 4 1 2 2 1 4 0 1 4 25 | 72 ] 93 [ 77% | 135 | 0533 | 0.689 8%1— ShU. MK FER
32 [HA BEA L=y 3 1 2 2 1 4 0 1 6 21 | 67 | 89 [ 75% | 135 | 0.496 | 0.659

33 [HkH B REVE 3 1 2 2 1 4 0 1 5 34 | 61 | 87 | 70% | 133 | 0459 | 0654 <AV>

34 [ FEk L—y 3 1 2 0 0 5 0 0 4 - 56 | 100 | 56% | 120 | 0.467 0.833 1 B =

35 |mi)IlgE=E TFENUR | 3 1 2 0 0 5 0 1 3 - 54 | 92 | 59% | 135 | 0.400 0.681 1 R BEHE
36 A BEZ TFRNAVA| 3 1 2 0 0 5 0 1 4 - | 45 | 96 | 47% | 139 | 0.324 | 0.691 1 hF Rt
37 | RRE#®= TENAVA | 2 1 2 0 0 5 0 2 3 - | 28 | 85 | 33% | 126 | 0222 | 0.675

3854 6106 0.631
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	最終通算

